(F4) =-{x+3y-(2x—x-5y) + 2y}
=—(x+3y—2x+ x+ 5y + 2y)
= —-10y




x7F =5, -4, -3, -2 A W, 54 4 - x > 75 FFo] HA 5t x 9

Ag Fotoler,

x=-5E HUSIH 9> 7
x=-4E HYUSIH 8> 7
wtehA] 2 7H o]},




7h)

® x+2y=5

@ -2x+y=5

D)2x-y=3

®)3x-by=1

@ -Tx+9y=2




o, a 9

Qo]
=

a7t (1,2)

P ax + 4y =11 9

0l %
=

4.

® 5 @ 6 ®7

@ 4

=3

5]
R

ax + 4y =11 o ¢

=
=

x=1,y=2

11




6x+3y =3 D, y = —x+2 QN4 @& Dl YA
g st
x=-1,y=3




B °

2x +ay =8¢ (2,-2) & H
4—2a =28

sa= -2

bx — 6y = 4°] (2,-2) &
2b+12=4

b=—-4

a+b=-6




= 2] o] A7t ol Ale] 2] o] SAtet Qo] A2 o] St
e 11017, 412] A2 0] 2apet o] A o] £AE v S AL
Sxtho7erE AR B 4G 45 Falolat

> =

> ™Mg: 47

~&B

Yol Ae)o] $718 x, A2] A2 £4E y 2 sh

x+y=11
10y + x = 10x +y + 27
x+y=11 ---Q
=" oA
x—y:—3 ...@
Q, O= A™sto] EH x =4, y =7 °Jth

A5 e 4704




@ A% 40km 2 x A7 &< o5 A7 ykm
@ 1070°f x LA AFF 1709] 714 y o

@X]—?j—f— x o] vy
® 77F7F 1000091 23] x% EA7HA y 9

=22 Wy =246.8, . Z3H= HHX




_ ool 2k _
(X—J —7}El=) I:l =

3
L []=-9







® 2 @ 3 ® 4

@1

XxX—2<6x+2




12. ofH gte] ofshy 20 Fo] Wt 57 A7} 52kg , FsHg ol B 55
A7} 60kg oltt. o] ¥t sty A A o] Ho FFAI7} 55kg ©]5d ),
gahae o) @ welrp)

‘OE

> =

> =g 129

o IS 2 7]] 9,] _?_—6'1-)
3 A== _ (1:! =0 mT o H
(;87‘“ _uoﬂ. El—l_7-") — (‘é'@.'/*@ Z'\_.) + (Oﬂ?i}ﬂg "}l\“) =F
(18 BRAL £
(A %) + (T3P 2
60 2 2
LOXE) <55
x+20

60x + 1040 < 55(x + 20)
12x + 208 < 11(x + 20)
12x + 208 < 11x + 220
x<12

whatA, gele #e 12 Holot.




__oT

oM

__o_l

—r

o)

-

ul

Efolrt.

1=}

S

4000 + 400x > 20000, x > 40 |22 41 &




85357 As=e AulL 7128

50& 7RSI+

Z okFl X o)
P ma mxuaA 007 | 120008

H ODgE3
sopsn | 2008 FEREBS L |00

T2 EAHAIA 1003

® 65w @ 66 @67—5— @ 68w O 69

27} 34FS AS 2 ol
12000 + 120x > 20000

2
> 66—
!




15.

x, y 7t A5 o, ARPA A 2x 4 3y = 30 9] F=
“Fotolet,

=F %

>
|> HMeks g A

(=3 — BN o

2x + 3y = 30 & TEot= &A%
(3, 8), (6, 6), (9, 4), (12, 2)




16.

A1z 5, y ol distel A A {x D=0 g a2 (4 b 2t
2x+y=

Sl gt b o] 209

o2 @3 ® 4 @ 5 ® 6

S5 ~
x=2y=0< WS M1”—( 1), (4, 2), (6,
2x+y=>5E WEFste= &A% (1, 3), (2, 1) °|BE F A&
Ao == 4:—*1“L (2, 1) o]t}

a=2,b=1

La+b=2+1=3




—(a-2)y =-1,-ax—- (2-a)y
y -2 =08 RET U, 4% 4 9] S Fofoleh,

3 9]

Sl 7t

y—2x=0,y=2x

ol AR Al y = 20 & 247 o
(a-4)x—(a—-2)x2x=-1,ax=1---
—ax—(2-a)x2x=3,ax-4x=3---©

O @S B x = -1 .y =1

Il

bt

o
(o]

)

2
..a:—2




Ty=2x+12 1

= % LA

18. o

@)y=2x-3

@ y=-2x-1

1
5)6—3

@ y=x-2

@y

®y=-x-3




st

%

R

=o}

@ y=2x-19 17

® A1, 3, 4 AHERE




® -4 @ 0 ® 2 Ds

y=3x+b l (2.6)2 HY

= H

3 -
6:§x2+b, b=3=ydd




21.

T A (-3,10), (1, 18)2 A= A4
[e]

=
E]EH,m—n_‘Z]gI%?

(71%71):118__(_130):2:2
y=2x+bol (1, 18) & st
18=2+4+b,b=16,
y=2x+16,2x-y+16 =0,
m=2,n=-1
m-n=2-(-1)=3

=)




1
22. x=-5, y=3 LW 3n(r-y) - (47 - 4x%y?) = 20y O GLET

50 50 40 40 35
@3 @-5 @3 @-3 O3

B

(F4]) = 3x%y - 3xy? — 217 + 2x%y
= 5x%y — 5xy?

1 _
X:—g,y:?)% ?:]1—6]'@




23. a=x+2y, b=3x-y & W, 4a-3b 5 x, y ol T3 A o2 L}Etf
H?

© ~5x+ 5y @ —5x+9y @—5x+ 11y
@ —5x+ 3y ® -5x+y

4a-3b = 4(x +2y) - 3(3x - )
=4x+ 8y —9x + 3y
= -5x+ 11y




24.

F A 2x-y+4=0, —ax+y-4=0x
Hol7h 129 o, A%a o 27 (R a<0)

@ -5 @ -4 ® -3

@ -2

Zo2 Fejuel REel

®-1

x AR A7 -, 2 olmz
a
A2k Wol7t 12 7 w2iw

><

2 Apol9] A2} g olmz - =4
-1

Q
I




25.

42 = gt ol x O] 27

@ 2 @4 ® 6 @ 8 ® 10

B

(22)4x+2 — (23)2x+4
28x+4 — 26x+12
8x+4=06x+12

L x=4




